
Вариант 1 

 

1. Выполните деление с остатком: 

а) 104 на 6 ; 

б) 23408 на 37 ; 

в) 179054 на 232 . 

2. Решите уравнение:   а)   5 21 1404х х  ;         

  б)  3 7 2800у у  . 

3. Найдите значение выражения наиболее удобным способом:  

      73 46 27 46    

 

Вариант 2 

 

1. Выполните деление с остатком: 

а) 304 на 9 ; 

б) 23408 на 39 ; 

в) 179054 на 167 . 

2. Решите уравнение:   а)   15 3 8172х х  ;           

б)  9 8100у у  . 

3. Найдите значение выражения наиболее удобным способом:  

      69 63 31 63    
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